CHAPTER 5

QUESTIONS

1. Closing entries affect the accounts for revenues, expenses, Income Summary, withdrawals, and capital.  The asset and liability accounts are not affected by closing entries.

Quick Study 5-1

1.
(f)
Analyzing transactions and events.

2.
(i)
Journalizing transactions and events.

3.
(b)
Posting the journal entries.

4.
(h)
Preparing the unadjusted trial balance.

5.
(c)
Journalizing and posting adjusting entries.

6.
(d)
Preparing the adjusted trial balance. 

7.
(g)
Preparing the financial statements.

8.
(e)
Journalizing and posting closing entries.

9.
(a)
Preparing the post-closing trial balance.

Quick Study 5-2

Income Summary balance after closing revenues and expenses:

Revenues: $36,000 + $4,500

= $40,500 

Expenses: $20,000 + $5,000 + $3,300

=  (28,300)

Credit balance

= $12,200 

Dane Argosy, Capital balance after all closing entries:

	Beginning balance

	$15,000

	Plus net income

	+12,200

	
	$27,200

	Less withdrawals

	- 7,000

	Ending balance

	$20,200


Quick Study 5-3

Current assets:

	Accounts receivable

	$16,000

	Cash

	7,000

	Office supplies

	2,800

	Prepaid insurance

	    3,500

	Total

	$29,300


Current liabilities:

	Accounts payable

	$11,000

	Unearned services revenue

	    5,000

	Total

	$16,000



Current ratio = 


 = 1.83
Exercise 5-4 

Closing entries:

   
Services revenue

33,000


Interest earned

6,300 



Income summary

39,300


To close the revenue accounts.

   
Income summary

54,300



Salaries expense

26,400



Insurance expense

4,800



Rental expense

7,400 



Supplies expense

4,100 



Depreciation expense—Trucks

11,600 


To close the expense accounts.

   
Retained earnings

15,000



Income summary

15,000


To close Income Summary.

Retained earnings on the balance sheet:

Beginning balance



$34,600 

Less:  Net loss



  15,000 

Ending balance



$19,600 

Problem 5-2A  

Part 1
sedona REPAIRS

Income Statement

For Year Ended December 31, 2002

Repair fees earned


$90,950 

Expenses:

  Depreciation expense—Equipment

$   5,000 

  Wages expense

37,500 


  Insurance expense

800 


  Rent expense

10,600 


  Office supplies expense

3,600 


  Utilities expense

  2,700 
 

   Total expenses


60,200 
Net income


$30,750 

SEDONA REPAIRS

Statement of Changes in Owner's Equity

For Year Ended December 31, 2002

K. Brown, Capital, Dec. 31, 2001


$33,000 

Add net income 


 30,750 



$63,750 

Less withdrawals


(16,000)

K. Brown, Capital, Dec. 31, 2002


$47,750 

Problem 5-2A (Continued)

Problem 5-2A (Continued)

SEDONA REPAIRS

Balance Sheet

December 31, 2002


Assets

Current assets

  Cash

$14,000 

  Office supplies

1,300 

  Prepaid insurance

   2,050 

  Total current assets


$17,350

Plant assets

  Equipment

50,000 

  Accumulated depreciation—Equipment

   (5,000)
 45,000 

Total assets


$62,350 


Liabilities
Current liabilities

  Accounts payable


$14,000 

  Wages payable


       600 

  Total current liabilities


$14,600 


Equity

K. Brown, Capital 


  47,750
Total liabilities and equity


$62,350 

Problem 5-2A (Continued) 

Parts 2 and 3

	SEDONA REPAIRS

	For Year Ended December 31, 2002

	
	
	
Adjusted
Trial Balance
	

Closing Entries
	
Post-Closing 

Trial Balance

	No.
	Account Title
	Dr.
	Cr.
	Dr.
	Cr.
	Dr.
	Cr.

	101
	Cash

	14,000
	
	
	
	
	
	   14,000
	

	124
	Office supplies


	1,300
	
	
	
	
	
	    1,300
	

	128
	Prepaid insur.

	2,050
	
	
	
	
	
	     2,050
	

	167
	Equipment

	50,000
	
	
	
	
	
	   50,000
	

	168
	Accumulated
   depr.,--Equip.

	
	
        5,000
	
	
	
	
	
	5,000

	201
	Accounts payable

	
	14,000
	
	
	
	
	
	14,000

	210
	Wages payable

	
	600
	
	
	
	
	
	600

	301
	K. Brown, 
   Capital

	
	        33,000
	
(4)
	      16,000
	
(3)
	
30,750
	
	
47,750

	302
	K. Brown,
   Withdrawals

	
16,000
	
	
	
	
(4)
	
16,000
	
	

	401
	Repair fees 
   earned

	
	       90,950
	
(1)
	       90,950
	
	
	
	

	612
	Depreciation 
   expense –Equip.

	
5,000
	

	
	
	
 (2)
	
5,000
	
	

	623
	Wages expense

	37,500
	
	
	
	 (2)
	37,500
	
	

	637
	Insurance exp.

	800
	
	
	
	 (2)
	800
	
	

	640
	Rent expense

	10,600
	
	
	
	 (2)
	10,600
	
	

	650
	Off. Supplies exp.

	3,600
	
	
	
	 (2)
	3,600
	
	

	690
	Utilities expense

	2,700
	
	
	
	 (2)
	2,700
	
	

	901
	Income summary

	
	
	(2)
	       60,200
	 (1)
	90,950
	
	

	
	
	________
	    ______
	(3)
	       30,750
	
	_______
	_______
	______

	
	Totals

	  143,550
	143,550
	
	   197,900
	
	197,900
	67,350
	  67,350


Problem 5-2A (Continued)
Closing entries (all dated December 31, 2002):

(1)
Repair Fees Earned

90,950



Income Summary

90,950


To close the revenue account.

(2)
Income Summary

60,200



Depreciation Expense—Equipment
     
 5,000



Wages Expense

37,500



Insurance Expense

800



Rent Expense

10,600



Office Supplies Expense

3,600



Utilities Expense

2,700


To close the expense accounts.

(3)
Income Summary

30,750



K. Brown, Capital

30,750


To close the Income Summary account.

(4)
K. Brown, Capital

16,000



K. Brown, Withdrawals

16,000


To close the withdrawals account.

Part 4


Current ratio =



   =

         = 1.19

Where
Current assets = $14,000 + $1,300 + $2,050



Current liabilities = $14,000 + $600

Problem 5-2A (Concluded)

Part 5

(a)
If none of the $800 insurance expense had expired, the income statement would not report any insurance expense and net income would be increased by $800.  

(b)
If there were no earned and unpaid wages (meaning Wages Payable equals zero), wages expense would be $600 less and net income would be $600 more.  

Financial Statement Changes:

The income statement would reflect the following:


Net income would be increased by $800 + $600 = $1,400.

The balance sheet would reflect the following:


Prepaid insurance and total assets would be increased by $800.


There would not be any wages payable.


Total current liabilities would be $600 less.


Owner's equity would be increased by $1,400.


Total liabilities and owner's equity would be increased by $800.

Problem 5-6AA   

Part 1
	Bullseye ranges

Partial Worksheet
December 31, 2002

	
	Unadjusted
Trial Balance
	
Adjustments
	Adjusted
Trial Balance

	Account Titles
	Dr.
	Cr.
	
	Dr.
	
	Cr.
	Dr.
	Cr.

	Cash

	14,000
	
	
	
	
	
	14,000
	

	Accounts 
   receivable

	
	
	
(e)
	
9,300
	
	
	
9,300
	

	Supplies

	6,500
	
	
	
	(b)
	3,500
	3,000
	

	Equipment

	135,000
	
	
	
	
	
	135,000
	

	Accumulated
  depreciation—Equip

	
	
30,000
	
	
	
(f)
	
15,000
	
	
45,000

	Interest payable

	
	
	
	
	(c)
	1,875
	
	1,875

	Salaries payable

	
	
	
	
	(a)
	1,200
	
	           1,200

	Unearned 
   membership fees

	
	
15,000
	
(d)
	
9,200
	
	
	
	
5,800

	Notes payable

	
	75,000
	
	
	
	
	
	75,000

	T. Allen, Capital

	
	50,250
	
	
	
	
	
	50,250

	T. Allen,
   Withdrawals

	
21,125
	

	
	
	
	
	
21,125
	

	Membership fees 
   earned

	
	42,000
	

	

	(d)
(e)
	9,200
9,300
	
	60,500

	Depreciation

   expense—Equip

	
	
	
(f)
	    15,000
	
	
	
15,000
	

	Salaries expense

	30,000
	
	(a)
	1,200
	
	
	31,200
	

	Interest expense

	5,625
	
	(c)
	1,875
	
	
	7,500
	

	Supplies expense

	   ______
	  ______
	(b)
	_3,500
	
	 ______
	__3,500
	______

	Totals

	212,250
	212,250
	
	40,075
	
	40,075
	239,625
	239,625


Problem 5-6AA (Continued) 

Part 2

(all adjusting entries dated December 31, 2002)

(a)
Salaries Expense

1,200



Salaries Payable

1,200


To record accrued salaries.

(b)
Supplies Expense

3,500



Supplies

3,500


To record cost of consumed supplies.

(c)
Interest Expense

1,875



Interest Payable

1,875


To record accrued interest expense.

(d)
Unearned Membership Fees

9,200



Membership Fees Earned

9,200


To record earned fees.

(e)
Accounts Receivable

9,300



Membership Fees Earned

9,300


To record accrued revenues.

(f)
Depreciation Expense—Equipment

15,000



Accumulated Depreciation—Equip

15,000


To record depreciation.

Part 3

(all reversing entries dated January 1, 2003)
(a)
Salaries Payable

1,200



Salaries Expense

1,200


To reverse accrued salaries.

(c)
Interest Payable

1,875



Interest Expense

1,875


To reverse accrued interest expense.

(e)
Membership Fees Earned

9,300



Accounts Receivable

9,300


To reverse accrued revenues.

Problem 5-6AA (Continued) 

Part 4

2003

Jan.  4
 Salaries Expense

1,500



Cash

1,500


To record payroll.

        15
 Interest Expense

2,250



Cash

2,250


To record interest payment.

         21
 Cash

19,300



Membership Fees Earned

19,300


To record collection of membership fees ($9,300 + $10,000).

$29,300


$16,000





$17,350


$14,600





Current assets


Current liabilities








